do/dM (fb/GeV)

Ratio to ATLAS

=
o

=

1071

1072

104

[EEY

0.5

13000 GeV pp
LI I B B

4-Ie;ptqn

§ 17 71T 717 | T Tt T T T T L E%
— M(4l) (atlas2021-4I) 313
B =
e0)
o\
= ER
= do
I —
= o
_ P
3]
— — =
— H
—l ——
— — ©
— — ™
— =
— -1 M
— 1w
- [ — 8
—i
= EE
=/ 4+ Pythia 8.308 de 3%
- Pythia 8.308 default-C 15
---&-- Pythia 8.308 default-DL c
= A Pythia 8.308 default-MBR =8
— =2
— S
— -1 &
| )
e | e | e | e | =
: T T T T | T T T T | T T T T | T T T T |:
— A -2
1
— A —0.5
Al AN T SRR Lo o Lo o |
0 500 1000 1500 2000

M(4l) (GeV)



	Contents
	Page 1


